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b.) Show that the acceleration of the particle is given by 
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c.) If a particle is located at  x = 2 when  t = 2.5, can it reach the location  x = 1 at a later time? 
Explain.  

 

 

 

 

 

 

 

 

 

Use  3 3dx t x
dt

= −  as given 

to find the second 
derivative. You will need to 
do some additional algebra. 

For the particle to reach  x = 1 when 
it is now at  x = 2 means that the 

position function would need to be 
decreasing. Can you determine if the 

position function is increasing or 
decreasing in the interval around the 

point (2.5, 2)?  
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